

THE BOARD OF DIRECTORS
PATRICIA ADAMS
Chair and President
ANN CAVOUKIAN
Executive Director, PBDI, Ryerson University
ANDREW COYNE
Columnist, Globe and Mail Econor
IAN GRAY
President, St. Lawrence Starch Co. Ltd. Professor of
GAIL REGAN
President, Cara Holdings Inc.
GEORGE TOMKO

Expert-in-Residence in IPSI, University of Toronto

MAX ALLEN Producer, CBC Radio DAVID CAYLEY Writer and Broadcaster GLENN FOX Economist, University of Guelph BRUCE PARDY Professor of Law, Queen's University ANDREW ROMAN Lawyer

November 18, 2020

Christine E. Long Registrar Ontario Energy Board P.O. Box 2319 2300 Yonge Street Toronto ON M4P 1E4

Dear Ms. Long

RE: EB-2020-0160 Enbridge Gas Inc. Windsor Pipeline Section 101 Application Energy Probe Cost Claim

Attached is the cost claim of Energy Probe Research Foundation (Energy Probe) for the EB-2020-0160 proceeding, the application by Enbridge Gas Inc. to the Ontario Energy Board for approval of order or orders under Section 101 of the OEB Act.

Respectfully submitted on behalf of Energy Probe.

Tom Ladanyi TL Energy Regulatory Consultants Inc. Consultant representing Energy Probe

cc. Enbridge Gas Inc. (Regulatory Proceedings)

Energy Probe Research Foundation 225 BRUNSWICK AVE., TORONTO, ONTARIO M5S 2M6

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

Required data input is indicated by yellow-shaded fields. Formulas are embedded in the form to assist with calculations.
 All claims must be in Canadian dollars. If applicable, state exchange rate and country of initial currency.

Rate:

Country:

- A separate "Detail of Fees and Disbursements Being Claimed" (comprising a "Statement of Fees Being Claimed" and a "Statement of Disbursements Being Claimed") is required for each lawyer, analyst/consultant and articling student/paralegal.

However, only one "Summary of Fees and Disbursements" covering the whole of the party's cost claim should be provided.

- The cost claim must be supported by a completed Affidavit signed by a representative of the party.

- A CV for each consultant/analyst must be attached unless provided to the Board as prescribed on the Cost Award Tariff.

Except as provided in section 7.03 of the Practice Direction on Cost Awards, itemized receipts must be provided.

File # EB-	EB-2	2020-0160	and the second	Proce	ss: Enbridge Windsor Pipeline Section 101 Proceeding					
Party:	Ene	rgy Probe Research Foundat	ion	_	Affiant's Name: Thomas J. Lada	nyi				
HST Numb	er:	10730 5146 RT0001			HST Rate Ontario:	6.50%				
		Full Registrant			Qualifying Non-Profit					
		Unregistered			Tax Exempt					
		Other								

			Affidavit		
l,	Thomas J	. Ladanyi	, of the City/Town of	Toronto	
in the Province/State	of	Ontario		, swear or affirm that:	

1. I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein.

2. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and

Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed". 3. The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of

Disbursements Being Claimed " include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above.

4. This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in sections 6.05 and 6.09 of the Board's Practice Direction on Cost Awards.

Signature of Affiant

Sworn or affirmed before me at	the City/Town of	Toronto				
in the Province/State of	Ontario	, on	November 16, 2020			
Norse and Norse			(date)			

Commissioner for taking Affidavits

Well hindly

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

File # EB-EB-2020-0160 Process: Enbridge Windsor Pipeline Section 101 Proceeding

Party: **Energy Probe Research Foundation**

Summary of Fees and Disbursements Being Claimed								
Legal/consultant/other fees	\$	7,100.00						
Disbursements	\$	-						
HST	\$	461.50						
Total Cost Claim	\$	7,561.50						

Payment	Information
---------	-------------

Make cheque payable to: Energy Probe Research Foundation

Send payment to this address: 225 Brunswick Avenue

Toronto, Ontario

M5S 2M6

Attention: Frank Cianflone

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB				Process:	EnŁ	oridge Wina	lsor I	Pipeline Se	ction	101 Proceeding
Party: Energy Probe Research Fo	Service Provider Name: Tom Ladanyi									
SERVICE PROVIDER	SERVICE PROVIDER TYPE		Year Called to Bar				Completed Years Practising/Years of Relevant Experience			
Legal Co	ounsel							4	6	
Articling Student/Par	alegal									
Cons	ultant	J					1	ourly Rate:		\$330
A	nalyst							24		
For Consultant/A		CV attac	hed			HST Rate C	narge	d (enter %):	1	6.5%
		and Section 1	ded	within previo	us 2					
	C4		6 5	Deine	Cla					
	St	atement o		urly Rate		Subtotal		HST		Total
Pre-hearing Conference		nours	по	uny rate		Subiolai		пэт		TOLAI
	ration		\$	330.00	\$		\$	-	\$	-
	dance		\$	330.00	\$	122	\$		\$	
Technical Conference	uance		Ş	550.00	Ş	-	Ş	-	Ş	
	ration		ć	220.00	ć		ć		\$	
	dance		\$ \$	330.00	\$	-	\$ \$	-	ې \$	-
Interrogatories	uance		Ş	330.00	\$	136	>	-	Ş	-
	ration	8.00	\$	330.00	ċ	2 640 00	\$	171.60	\$	2 911 60
	onses	8.00	ې \$	330.00	\$ \$	2,640.00	> \$	1/1.60	ې \$	2,811.60
Issues Conference	JUIISES		Ş	550.00	2		Ş	-	Ş	
	ration		ć	330.00	Ċ		c		ć	
	dance		\$ \$	330.00	\$	(-); 1957	\$ \$		\$ \$	
ADR - Settlement Conference	uance		Ş	330.00	Ş	-	Ş	-	Ş	
	ration		\$	330.00	\$		Ċ		\$	
	dance		\$	330.00	\$	(#) (#)	\$ \$		\$	
			ې د		\$	1.T.1	2 ¢		2 ¢	-
Proposal Prepa Argument	ration		Ş	330.00	Ş	()	Ş		Ş	
	ration	13.00	ć	330.00	\$	4 200 00	\$	270.05	\$	4 5 6 9 9 5
Oral Hearing	ation	15.00	Ş	550.00	Ş	4,290.00	Ş	278.85	<u>ې</u>	4,568.85
	ration		\$	330.00	\$		7		\$	
	dance		ې \$	330.00	> \$	-	\$	-	> \$	-
Other Conferences	uance		Ş	550.00	2		\$	-	2	
	ration		ć	220.00	Ċ		c		Ċ	
	dance		\$	330.00	\$	842	\$		\$	
Case Management	uance	1.00	\$	330.00	\$	170.00	\$	-	\$	-
		1.00	Ş	170.00	\$	170.00	\$	11.05	\$	181.05
TOTAL SERVICE PROVIDER FEES					Ś	7.100.00	\$	461.50	Ś	7,561,50

TL Energy Regulatory Consultants Inc.

Date: November 15, 2020

To: Frank Cianflone Energy Probe Research Foundation 225 Brunswick Ave. Toronto, ON M5S 2M6 Invoice No: EPRF 2020-22

From: Tom Ladanyi TL Energy Regulatory Consultants Inc. 41 Divadale Drive Toronto, ON M4G 2N7 Phone: 416-423-3685 E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2020-0160 Enbridge Section 101 Application

Date	Description of Work	Hours		Rate	Amount		
27-Jul	Interrogatories	2	\$	\$ 330.00		660.00	
29-Jul	Interrogatories	2	\$	330.00	\$	660.00	
30-Jul	Interrogatories	1	\$	330.00	\$	330.00	
05-Aug	Interrogatories to Essex	3	\$	330.00	\$	990.00	
22-Aug	ED Motion comments	2	\$	330.00	\$	660.00	
24-Aug	ED Motion comments	1	\$	330.00	\$	330.00	
26-Aug	Review IR Responses	2	\$	330.00	\$	660.00	
24-Sep	Argument	3	\$	330.00	\$	990.00	
25-Sep	Argument	2	\$	330.00	\$	660.00	
27-Sep	Argument	1	\$	330.00	\$	330.00	
01-Oct	Argument	1	\$	330.00	\$	330.00	
02-Oct	Argument	1	\$	330.00	\$	330.00	
	Case Management	1	\$	170.00	\$	170.00	
	Subtotal:						
	GST/HST No: 77848 0921 RT0001	Λ	Н	IST 13%:	\$	923.00	
e cheque payable to: Total				\$	8,023.00		

TL Energy Regulatory Consultants Inc.